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0x18 #TEes 1CL- PAGEL FE{H: X0.1

0x19 #4FE5% 1CL- TR, FEfE: X0.1

Ox1A #EEE 2% 1 JEEERE ] AEAE: X1

Ox1B #7525 2 NH4 PAS B, FE{H: X0.1

Ox1C #£7E 2% 2 NHA FECE, FEfE: X0.1

0x1D #7525 2 NO3 P& 5k FEfH: X0.1

Ox1E 4725 2 NO3 FEALE, FEE: X0.1

Ox1F #47E2% 2K+ PAEES FEfE: X0.1

0x20 #4FE2S 2 K+  FEICEL FEfE: X0.1

0x21 #7E2% 2CL- PAGEL FE{H: X0.1

0x22 H47E%% 2 CL- T, FEfE: X0.1

0x23 #TE2S 2 JEERE FEfE: X1

0x24 #:7E4% 3 JE VLI FE{H: X0.1

0x25 #Eaas 3 TP AEAE: X1

0x26 #iaas 3 WEIEMF[H] AEAE: X1

0x27 #¢FEA% 3 ThfE FEAE: X1 0=1F Uk, 1=18 HH3REe, 2= 58
TR

0x28  FCERfE A7 [HI IR FEME: X1

0x29 VHIERI SEAE: X1 0=NH4,1=N03,2=K+,3=CL-

0x2A HImEHA7 FE{H: X1 O0=ppm,l=mg/L

0x2B NH4 Wit = FE{H: X0.1

0x2C NO3 fmig&E FE{H: X0.1

0x2D K+ Wit FEfH: X0.1

0x2E CL- 1fmfe= FE{H: X0.1

Ox2F i Imfs &= FEH: X0.1

0x30 &B i FEME: X1 0=9i3,1=%88 2=(5
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